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Baud rate : 2400
8 data bits

No parity

1 stop bit

- Flow control : none
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i 1. BEEUCELAHAIA, RePORT ID A 0x30 HI¥#EAH (B) ReporT 48, BILH 6 MR, ) BEWT:
UPS.PowerConverter.Input[1].Activ Measure Total active power of Main Feature RO Var W 32 0
ePower AC
UPS.PowerConverter.Input[1].Appa Total apparent power of
rentPower Measure Main AC Feature RO Var VA 32 0
UPS.PowerConverter.Input[1].Curre Measure Total current taken on Main Feature RO var 0.1A 16 0

48 nt AC for 3 phase Input
UPS.PowerConverter.Input[1].Freq Actual value of Main AC 0.1H
uency Measure frequency Feature RO Var 7 16 0
UPS.PowerConverter.Input[1].Powe Measure Actual value of Main AC Feature RO var 8 0
rFactor Power Factor
(E]JePS.PowerConverter.Input[l].VoIta Measure Main AC phase 1 voltage Feature RO Var | 0.1V 16 0
PSSR (W
Packet type | Data length Data bytes D0..0n Checksum-8
1 byte 1 byte 1-8 bytes 1 byte
Shut data packets /] Data byptesDO...Dn P %
Field Request Request Report Report Interface Interface Length Length
Type 1 Type 2 1D Type LSB MSB LSB MSB
Data OxA1 0x01 (variable) 0x03 0x00 0x00 (variable) 0x00

PATFORifE S 0 TRAREM SR UPS 36+, AEFHRABEBEAS

Command/Reply (¥J4 16
Step | Host/UPS b Comment
H1E, Eﬁﬁi,ﬁ mﬂEPLﬁEzLﬁﬁ E/Ui
5 UPS 16 UPS H3I[H & 0x16, F/~E A IE(E K
Yy, WS 15 RoR %A AT
3 Host 8188 A1 0130 030000 20 Host Ff & 1% Get Report command, &=
no8s Sl F




Bea s 20U B Shut data packets:
1) 81: Packet type (+0x80
RARBEIA) 81 Fm K4 UPS 11, JF

HARKIX—%

2) 88: Data length FxK &
3) A1...20 00: Data bytes

4) B3: Checksum( 8 N
XOR)

s Btk A B Get Report
Command:

Al: Request Type 1

0l1: Request Type 2

A1 01 FoRiH

30: ReportID (& 16 #Ei)
03: Report Type #x SR 2
feature

00: Interface LSB

00: Interface MSB

20: Length LSB %K
00: Length MSB

i1t Length LSB Al Length MSB #& &
BRI 1) byte £, #izddE /N T
report [1] byte £, N Hik 1] 75 ) byte
B FEUE KT T report | byte
£, MR [EFEA report.

HZUiES%

SHUT Protocol Generic
Specification.pdf 3C#%,

2.3 Shut data packets &= 7
2.5 UPS Command &5

UPS

06 04 88 30 68 29 00 00 84
3500 CO

UPS [ &%, & ACK, HRE
BAaE, W

06 : ACK, UPS #zl§ Host K I.[1
Packet {2

B¥E s 26 N Shut data packets:
1) 04: Packet type (&F
+0x80, RARLEH)

2) 88: Data length

3) 30...35 00: Data bytes

4) CO: Checksum

UPS [a & i 3k Bots Aoy :
Byte 0: Report ID (30)
Byte 1...n : Data (68 29 00 00 84




35 00)

Host

06

06 : ACK, Host £ UPS Ki%k )
Packet %))

HEZUHIES%

SHUT Protocol Generic
Specification.pdf 1%,
2.4 Error handling F5

UPS

84 88 00 3A 02 F4 01 46 10
09 92

KA UPS Bl IR B K% 52 e, IR
Host ACK J&, BL{E UPS 4k 4:[A & %L
P&, A IRITFEE UPS AH RIS
ACK F1 Report ID:

Bodi s =0 B Shut data packets:
1) 84: Packet type (+0x80
R e BT

2) 88: Data length

3) 00...10 09: Data bytes

4) CO: Checksum

UPS 25 — R [al 52 i 308 B =0A :
Byte 0...n:Data (00 3A 02 F4 01
46 10 09)

Host

06

06 : ACK, Host #I UPS K%M
Packet %3]

HZUiES%

SHUT Protocol Generic
Specification.pdf S 14,
2.4 Error handling &5

[2022:06:28:14:06:04] [ Ki%]16
[2022:06:28:14:06:08] [&i%]81 88 A1l 01 30 03 00 00 20 00 B3

[2022:06:28:14:06:08] [#25£106 04 88 30 00 00 00 00 00 00 00 30

[2022:06:28:14:06:13] [&i%]06
[2022:06:28:14:06: 137 [#25£184 88 00 00 00 F4 01 FF 4C 09 4F

BARAENT

AbEE Step4, Step6 UPS IR EH#E, Y5 Report 48 Ui AT T
Report ID M 48 MI%#E E N %

48

UPS.PowerConverter.Input[1].ActivePower i N5 T Th % W | 32
UPS.PowerConverter.Input[1].ApparentPower i A\ARZETHE | VA | 32
UPS.PowerConverter.Input[1].Current % A HLit 011 16




UPS.PowerConverter.Input[1].Frequency i ANJi % OH; 16
UPS.PowerConverter.Input[1].PowerFactor i A\ T X & - 8
UPS.PowerConverter.Input[1].Voltage % \ HLJE 0\'/1 16

UPS [RIE I E3E BN 2 (2 16 #tii))

306829000084 3500 003A02F40146 1009, AR, FEEFE—REIERE D
#% 0x30 &y Report ID 48

AR A8 SR B g A ol

= UPS.PowerConverter.Input[1].ActivePower i NG THREDN %
32 hiEdlE, 68290000, Ef’ly 0x00002968 = 10600 * W = 10600 W

= UPS.PowerConverter.Input[1].ApparentPower fi AXYLLETH
= 32 fu¥dE, 84 350000, EfJN 0x00003584 = 13700 * VA = 13700 VA

» UPS.PowerConverter.Input[1].Current % A\ HLi ,
= 16 fu%dE, 3A02, Hi 4 0x023A = 570 * 0.1A = 57A

*= UPS.PowerConverter.Input[1].Frequency i A5,
= 16 i, F401, HP >4 0x01F4 = 500 * 0.1Hz = 50Hz

= UPS.PowerConverter.Input[1].PowerFactor ¥ NTHZ &,

= S fiHE, 46, il 0x46 = 70

*= UPS.PowerConverter.Input[1].Voltage %i A\ H &,

= 16 ¥, 1009, B2 0x0910 = 2320 * 0.1V = 232V
KV
W EdE A Report 25 4 RW, WE 25 2 IKIE, BN Zar 2 8 il i K 8uE K E
8bytes, A:

1) AR M N 0x3C = 60HZ
01 88 21 09 19 03 00 00 02 00 30
812219 3C 25

2) AR M 0x32 = 50HZ
01 8821 09 19 03 00 00 02 00 30
81221932 2B



f 2: FEEX=FHE%IA, Report ID A 0x31 FI#HE A (B Report 49, BILH 9 MR, ) BTIT:

(2019:03:29:11:43:10) (R1E]181 88 Al 01 31 03 00 00 40 00 D2
(2019:03:29:11:43:10] [§&Ik 106 04 83 31 28 00 S6 09 2C 10 28 52
FT (2019:03:29:11:43: 141 K% 108
WAy L0 N (2019:03:29:11:43:14] (§3!}104 88 00 S6 09 36 10 28 00 60 31
sy o7 || (2019:03:29:11:43:15) (K108
- - [2019:03:29:11:43:15] [§#lf})84 33 09 2C 10 35

Azt (2019:03:29:11:43:16) (&% 108

RO )] (2019:03:29:11:43:17) CREE106

| [2019:03:29:11:43:17T) [(E}E 108
'
UPS [o1 52 (04 Br N 2% (342 16 )

31280056 09 2C 10 28 00 56 09 36 10 28 00 60 09 2C 10, M A=, VEEH —RkEIE
[ 55— EdE 0x31 A Report ID 49

UPS.PowerConverter.Input[1].Phase[1].Current Measure iclual value of Main AC current phase Feature RO vVar | 0.1A 16 0
UPS PowerConverter_Input[1].Phase[1]. Voltage Measure fctual value of Main AC voltage phase Feature RO Var | 0.1V 16 0
UPS_PowerConverter Input{1] Phase[12] Voltage Measure im‘a' value of Main AC voltage phase | cooope | ro | var |oiv | 16 0
UPS PowerConverter_Input[1].Phase[2].Current Measure iclual value of Main AC current phase Feature RO Var | 0.1A 16 (]
49 UPS PowerConverter.Input[1] Phase[2]. Voltage Measure ictual value of Main AC voltage phase Feature RO Var | 0.1V 16 [}
UPS_PowerConverter Input[1] Phase[23] Voltage Measure iaua' value of Main AC voltage phase | coaope | ro | var [oov | 16 0
UPS PowerConverter. Input[1].Phase[3].Current Measure icma' value of Main AG current phase [ co o | go | var | 01a | 16 0
UPS.PowerConverter.Input[1].Phase[3]. Voltage Measure fctual value of Main AC voltage phase Feature RO Var | 0.1V 16 [}
UPS PowerConverter Input[1] Phase[31].Voltage Measure :C“"a' value of Main AC voltage phase [ oo | ro | var | o1v | 16 0

AR ORI A A i ah

» UPS.PowerConverter.Input[1].Phase[1].Current fii \ LI A #H

= 16 fu#dlE 2800 R’y 0X0028 =40*0.1=4A

= UPS.PowerConverter.Input[1].Phase[1].VoltageL % \AHHLE A
= 16 %3 56 09 RPN 0X0956 =2390*0.1=239V

» UPS.PowerConverter.Input[1].Phase[12].Voltage % N2k FE & A
= 16 % 2C 10 HIJ 0X102C =4140*0.1=414V

= UPS.PowerConverter.Input[1].Phase[2].Current % \ B B #H

= 16 fudlE 28 00 HIZy 0X0028 =40*0.1=4A

* UPS.PowerConverter.Input[1].Phase[2].Voltage % A\ AH HL % B

= 16 /7% 56 09 HISN 0X0956 =2390*0.1=239V

» UPS.PowerConverter.Input[1].Phase[23].Voltage fii A2k H1JE B
= 16 fi##E 36 10 RI2H 0X1039 =4153*0.1=415.3V

= UPS.PowerConverter.Input[1].Phase[3].Current % \ Hif C #H

= 16zl 28 00 HI'y 0X0028 =40*0.1=4A

= UPS.PowerConverter.Input[1].Phase[3].Voltage i A\ AH HE C 4
= 16 fu%dE 6009 HIZy 0X0960 =2400%0.1=240V

» UPS.PowerConverter.Input[1].Phase[31].Voltage fit N2k Hi & C #H
= 16 % 2C10 R4 0X102C =4140%0.1=414.0V

#l 3: EECEAEHIH Report ID & 0x42 FI%#E A5 (BI Report 66, B3EH 9 Md, ) ZPBWT:



i H (B ) /& Report 66, £&¥E

HiH (=M)& Report 120,

R
JXi%: 8188 A1 0142030000 1200 F3
P7it: 06 04 88 42 E0 15 00 00 C8 19 00 66
NES
Ki%k: 06
$zl: 04 88 00 2C 01 F4 01 8D 00 54 01
NE
Ki%k: 06
B2 84 22 AC 08 A4
HidPath ~ | DataTyp ~ Description ~ | ReportTyf ~ ‘ RWF ~ ‘ CstVa - ReportID -v Unit -~ ‘ Sii ~ | Defaul ~
UPS.PowerConverter.Output.ActivePower Measure Actual value of active power Feature RO Var 66 W 32 0
UPS.PowerConverter.Output.ApparentPow Measure Actual value of apparent power Feature RO Var 66 VA 32 0
UPS.PowerConverter.OQutput.Current Measure If one phase UPS, Actual value of output Feature RO Var 66 dA 16 0
UPS.PowerConverter.Qutput.Frequency  Measure  Actual value of frequency Feature RO Var 66 dHz 16 0
UPS.PowerConverter.Output.PeakFactor  Measure 0.00-4.00 (use of exponent) Feature RO Var 66 c- 16 0
Cos PHI, 2 cases :
-1.00 to 1.00 if the UPS can show the
UPS.PowerConverter.Output.PowerFactor Measure leading and lagging power factor. Feature RO Var 66 - 7 0
0.00 to 1.00 if the UPS calculates the
absolute value.
Mono : Output voltage
UPS.PowerConverter.Output.Voltage Measure ) . Feature RO Var 66 dV 16 0
Tri: Average on 3 phasis voltage.
UPS.PowerConverter.Rectifier.Phase[1].Vol Measure DC Bus positive Voltage Feature RO Var 66 dV 16 0
UPS.PowerConverter.Rectifier.Phase[2].Vol Measure DC Bus negative Voltage. It is given as Feature RO Var 66 dvV 16 0
tage absolute value.

AR08 SO it U At A Al

UPS.PowerConverter.Output.ActivePower i i H D E L) %
32 fir#i4fE EO 15 00 00 RlI%y 0x000015E0 =5600W
UPS.PowerConverter.Output.ApparentPower % - #1728 Ty %
32 {7 ##E C8 19 00 00 HI 2 0x000019C8 =6600VA
UPS.PowerConverter.Output.Current % H IR

16 7 & 2C 01 B2 0x012C=30.0A
UPS.PowerConverter.Output.Frequency i i 4%

16 fir % F4 01 B2y 0x01F4=500 50HZ
UPS.PowerConverter.Output.PeakFactor % H & & K+
16474 #58D 00 B NOx 141 Always be 14100 =1.41
UPS.PowerConverter.Output.PowerFactor % H TR K &

8 fi il 54 B[N Ox 84
UPS.PowerConverter.Output.Voltage % H H &

16 7 %#E AC 08 By 0x2220=222V
UPS.PowerConverter.Rectifier.Phase[1].Voltage

16 7 ¥
UPS.PowerConverter.Rectifier.Phase[2].Voltage

16 ¥

% 4: EEBUHEHIHE Report ID & 0x78 KI%3E A% (B) Report 120, MItH 1I5ARE, ) FBIT:

[2022:06:28:14:48: 17] [Ki%]16

[2022:06:28:14:48: 17] [#2Uk] 16

[2022:06:28:14:48: 18] [%&i%]81 88 Al 01 78 03 00 00 1E 00 C5
[2022:06:28:14:48:19] [#4i]06 04 88 78 00 00 00 00 98 08 E2 0A
[2022:06:28:14:48:21] [ %ki%]06

[2022:06:28:14:48:21] [#it]04 88 OE 00 00 00 00 98 08 E2 7C
[2022:06:28:14:48:23] [ Ki%]06

[2022:06:28:14:48:23] [#1i]104 88 OE 00 00 00 00 98 08 E2 7C
[2022:06:28:14:48:24] [ Ki%]06

[2022:06:28:14:48:24] [##15]84 11 OE OE
[2022:06:28:14:48:26] [ %&i%]06



UPS.PowerConverter.Output.Phase[1].Current ; it B AT Measure Actual value of output current
UPS.PowerConverter.Output.Phase[1].PercentLoad mEk /A

ki

Measure  Actual value of porcent load

Cos PHI, 2 cases :

-1.00 to 1.00 if the UPS can show the leading and
UPS.PowerConverter.Output.Phase[1].PowerFactor TNEEE A Measure lagging power factor.

0.00 to 1.00 if the UPS calculates the absolute

value.

UPS.PowerConverter.Output.Phase[1].Voltage #itHEE FEAIR Measure  Actual value of the voltage
UPS.PowerConverter.Output.Phase[12].Voltage§ﬁﬁ§f B EATH Measure Actual value of the voltage
UPS.PowerConverter.Output.Phase[2].Current iR BIR Measure Actual value of output current
UPS.PowerConverter,Output.Phase[2].PercentLoad A Ei 4 LhB

Measure Actual value of porcent load

Gi

Cos PHI, 2 cases :

-1.00 to 1.00 if the UPS can show the leading and
UPS.PowerConverter.Output.Phase[2]. PowerFactorTNERE BT ~ Measure lagging power factor.

0.00 te 1.00 if the UPS calculates the absolute

value.

UPS.PowerConverter.Output.Phase[2].Voltage e B E B Measure Actual value of the voltage
UPS.PowerCon\rerter.Output.Phase[23].Voltage$ﬁjﬂj§f B EB4H Measure Actual value of the voltage
UPS.PowerConverter.Output.Phase[3].Current $iHHARFECIE Measure Actual value of output current

UPS.PowerCnnverter.Output.Phase[3].PercentLoadﬁ‘1ﬁ§§ﬁ‘tEdE Measure Actual value of porcent load

Cos PHI, 2 cases :

-1.00 to 1.00 if the UPS can show the leading and
UPS.PowerConverter.Output.Phase[3]. PowerFactorTIEREZECHH  Measure lagging power factor.

0.00 te 1.00 if the UPS calculates the absolute

value.
UPS.PowerConverter.Output.Phase[3].Voltage st B ECH Measure Actual value of the voltage
UPS.PowerConverter.Output.Phase[31].Voltagesfi HELFBECH Measure  Actual value of the voltage

Feature

Feature

Feature

Feature
Feature
Feature

Feature

Feature

Feature
Feature
Feature

Feature

Feature

Feature
Feature

RO

RO

RO

RO
RO
RO

RO

RO

RO
RO
RO
RO

RO

RO
RO

AR SCRS U B e b Sl (BRI 3 S, T At = AR R0 20 BRI H FLIR N )

UPS.PowerConverter.Output.Phase[1].Current ; %! IR A M

16 f2 %4 00 00 B A 0x0000 =0A
UPS.PowerConverter.Output.Phase[1].PercentLoad 1% F 43tk A Al
8 fr&dE 00 K4 0x00 =0%
UPS.PowerConverter.Output.Phase[1].PowerFactor T K & A #

8 iz 00 HI2A 0x00=0
UPS.PowerConverter.Output.Phase[1].Voltage %t AH B % A

16 %4k 98 08 HI iy 0x0898=2200dv , Bl 2200/10=220V
UPS.PowerConverter.Output.Phase[12].Voltage# it £& Hi LA

1647 #HE2 OE RISH0x OEE2 =3810 dv ,E)3810/10=381V
UPS.PowerConverter.Output.Phase[2].Current % Hi Bt B Al

16 £ %dE 00 00 B Ox 0000=0V
UPS.PowerConverter.Output.Phase[2].PercentLoad 1% 4>t B AH
8 fir¥idfs 00 %A 0x00=0%
UPS.PowerConverter.Output.Phase[2].PowerFactor D% [X % B #H

8 i 00 RI2A 0x00=0
UPS.PowerConverter.Output.Phase[2].Voltage % s HLJE B AH

16 7% 98 08 BI2Ay 0x0898=2200dv , R} 2200/10=220V
UPS.PowerConverter.Output.Phase[23].Voltage % H 28 H1 /% B Al

16 {7 %#E E2 OE EP A Ox OEE2 =3810 dv Rl 3810/10=381V
UPS.PowerConverter.Output.Phase[2].Current % Hi Bt C 4

16 £z %#E 00 00 EI24 0x 0000=0V
UPS.PowerConverter.Output.Phase[2].PercentLoad 1%k 7 45tk C #H
8 fi i 00 RI2A 0x00=0%
UPS.PowerConverter.Output.Phase[2].PowerFactor I % [K % C i

8 .k 00 Ry 0x00=0
UPS.PowerConverter.Output.Phase[2].Voltage % ik HL & C A

16 %4 98 08 Iy 0x0898=2200dv ,EJl 2200/10=220V
UPS.PowerConverter.Output.Phase[23].Voltage % H 25 Hi % C

16 7 %dE E2 OE RI2A Ox OEE2 =3810 dv , R} 3810/10=381V

GET DESCRIPTOR COMMAND

120 dA

120 %

120 -

120 dv
120 dv
120 dA

120 %

120 -

120 dv
120 dv
120 dA
120 %

120 -

120 dv
120 dv

16

16
16
16

16
16
16

16
16



?ZE’%REH? Host LAEAE full USB/HID #3, ASCRIASRMEM U], 71Z% SHUT B HoR
I 21 4



